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Philosophy

Paper 1II

BN
R IECT |

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : AT GLAYehd THUT IR (100) FTgaaren Ted oot oTed. Tciesh Jemen & (2)

[Maximum Marks : 200

U1 3Ted. @d U Wred.

1.

The distinction between Shreyas and

Preyas is maintained in the :

(A) Taittiriya Upanisad

(B) Brhadaranyaka Upanisad

(C) Katha Upanisad

(D) Prasna Upanisad

Adrsta, as agency, is conceived

by :

(A) Naiyyayikas only

(B) Vaisesikas only

(C) Naiyyayikas as well as
Mimamsakas

(D) Mimamsakas only

‘Death as Moksa’ is uphold by :

(A) Samkhyas (B) Jainas

(C) Bauddhas (D) Carvakas

g9 9 YIE Il 98 SIS Adl 2

\WaSal o

(A) dfa 3ufee

(B) J8SRUIeh 3O
(C) 3 3ufoR
(D) Y IUMER

AR HAqun wiof fge ?

(A) whdes FzfIH

(B) des SRIfeR!

(C) =R o HHTERI

(D) s HIHRIRT

‘g RS HiEg' I HI0 T AR ?
(B) St

(D) =mateRT

(A) FrEE
(C) Siger

[P.T.O.



‘Svadharma’ means :
(A) One’s own duties
(B) Prakrti

(C) Self-knowledge
(D) Self-realization

Which of the following is not given
in Vedic tradition ?

(A) Pitr-rna

(C) Manava-rna (D) Rsi-rna

(B) Deva-rna

Which of the following is not covered
in yamas ?

(A) Don’t drink intoxicants

(B) Don’t steal

(C) Don’t harm

(D) Don’t hoard

Carvaka views on Purushartha
may be labelled as :

(A) Psychological Hedonism
(B) Ethical Hedonism

(C) Paradox of Hedonism
(D) Universal Hedonism

Which of the following is not a task
of phenomenological reduction ?

(A) To enable the naturalistic point
of view

(B) To enable holistic knowledge
claims

(C) To enable presuppositionless
claims

(D) To enable grounding of entities

JUN - 12219/I1—B

T 1%'01@ :
(A) AT HaA
(B) Wl

(C) ATHAA

(D) STcHHTRTTICh X

TTATadeh! HI RO dfgeh  THRA
aE ?

(A) fagma (B) Q&R0

(C) wersRul (D) sl
WA HEMEl Seoid JATE ATe 2
(A) TMIE & T

(B) =Rl ®& T

(C) 31 & 7

(D) 9 HE T

iR gEeefasEe ey &
RO A ?

(A) AR gEer

(B) Hfaer gaEa=

(C) YaemrE forienra

(D) grefh geer

AN A N N (oW bt
Jelcdienl onlVld HiAA=H<AlAI] (At
w1 @ ?

(A) YFfqamt gfteshAmt s i
L]

(B) HhoTalel JAETSAT STeAT=i YTerd

frafor s

(C) HSTATE JEHRENINEIREC R IE)

ST YRl Ao sRYon

(D) == AR IR ATt
NESK




10.

11.

Match List T with List IT and select
the correct answer from the codes
given below :

List I
(@) Maitri
(b) Karuna
(¢) Mudita
(d) Upeksa
List II
(1) Punya
(2) Sukha
(3) Apunya
(4) Duhkha
Codes :
(@ ®) () ()
A 2 @ & @
B 2 @ @O G
< 2 O G @
D) &) @ @1 @
Which of the following is the socially
binding principle ?
(A) Dharma (B) Artha
(C) Kama (D) Moksa

According to Ryle a category
mistake is committed when :

(A) A fact belonging to one category
is presented in the idiom
appropriate to another

(B) A fact belonging to one category
is reduced to the idiom
appropriate to another

(C) A fact belonging to one category
is totally denied

(D) The relation between the two
categories is wrongly presented

10.

11.
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Il
gt 1
(@) TSt
(b) HEI
(c) Hfea
(d) 3U
g 10
(1) g
(2) g@
(3) A
4) T=
Tehdlah :
(@ ®) ©© @
Aa 2 @ B @
B 2 @ @O 3
< 2 @O & @
D & @ @O (@)
UIc'ilcdqclvl OhIUId dacd HHISH Eﬂf'{fl
3 2
(A) =¥ (B) 21
(C) =M™ (D) M4

ST HAIHR Jeiettenl ol TRieedia
HIE-YHE FEdl ?

(A) TH THRE
ilr%{m ST ?l&:%dl%ﬁ gl

ThTTedl

\\

(B) Tehl Tehi=Al 928 U-A1 TehIell
;gwmmmﬁmﬁﬁwsﬁﬁ

(C) U&h! YhIId IO SO q :

EIEARG IS T

(D) T YR AT Feh =T TSEA
TR el S "

[P.T.O.



12.

13.

14.

15.

Who among the following Utilitarian
philosophers advocated Qualitative
distinctions in Pleasure and Pain ?
(A) J. S. Mill (B) Bentham
(C) Sidgwick (D) Kant

“Eye for an eye” is advocated by

which one of the following theories
of punishment ?

(A) Deterrent theory

(B) Retributive theory
(C) Preventive theory
(D) Reformative theory

‘Ethical sentences are about the
attitudes of the people’—is the stand
point of which one of the following
ethical theories.

(A) Moral Subjectivism

(B) Moral Realism

(C) Universal Prescriptivism

(D) Emotivism

Which one of the following
statements is not true of Altruism ?

(A) In case of “pure” altruism self-
interested motives are entirely
absent

(B) An altruistic and has to be
necessarily self-sacrificing

(C) An act is altruistic in the weak
sense if it is motivated by the
tort that it benefits at least does
not injure anyone

(D) An act is altruistic in the strong
sense if one undertakes it
inspite of the perception that it
involves some loss of one’s well-
being

12.

13.

14.

15.
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WU T SUIFHIATAIGT T
qeg @did Ui 95 Ared ?

(A) 3. TE. fged (B) dom
(C) fafsoen (D) sie

‘Sresad S’ & fRreRaur et o
YU S ?

(A) wfqeiercTer U9«

(B) wfasnemcass 3o

(C) framomess 399

(D) GURTHE YU

“Afqw G dreeren gftewmifasE

A"’ B e Weiierieh! shiore Hfdsh

3UUHH Hied AR ?

(A)

(B) fder drerare

(C) WEfser AR3ER

(D) vEfHeaR

RIqeh e slTeid Eleteldeh! shIoTd farerm

Ty e ?

(A) e ueRIeTead sz a¥ et
O FYUId: ST STEl

(B) WYFRI Fefl AIRERT STTeaemi
T9q

(C) SR @ Fdl e e, Fem
SHUTET S hid 8, @ ol e,
= e, Wyl sd

(D) S TEEEA RAUTH HBE
YTl dred T9elt, adel o
Hedd WYhRT FHal 39 g o7eff
Tl Ad

Sfqer fasritare/sfwmfTssare




16.

17.

18.

19.

Which of the following is maintained
in traditional ethics ?

(A) All good actions are right but
all right actions are not
necessarily good

(B) All good actions are duties but
all duties are not necessarily
good

(C) All right actions are not duties
and all duties are not right
actions

(D)

Right actions and duties are
incompatible

Teleology and Deontology get
synthesized in :

(A) Rule-ethics
(B) Principle-ethics
(C) Virtue-ethics
(D) Meta-ethics

According to Plato, the existence of
which virtues ensure justice ?

(A) Truth, Knowledge, Beauty
(B) Truth, Goodness, Beauty

(C) Wisdom, Courage, Temperance
(D) Wisdom, Fortitude, Love

Deontological performance of duties
is prescribed by :
(A) Bentham
(C) Kant

(B) Mill
(D) Hume

16.

17.

18.

19.
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Tt Hio@r (TatE) qRYIE

ifaereTa TEen S ?

(A) Td AN FHadt AT AT 907 I
A FHelt AT STEU TURE

(B) & AT Sl hacehH STHA WY
T oA ANTell 0 afErd
et

(C) Td I FHall HacAkH AT ST
Td whdeaeRd AT FHdl Aeed

(D) IFF Fal d FHATHH TEREEAU

Ferd

TS 9 el Squtiel TH-<od

HIS sl ?

(A) frem-faemm
(B) Ta-faeE

(C) SOt
(D) sfifaeTe

NN b hd o N
ST Hd, IV U= TR
I qEAl Sl 2

(A) ¥4, IM, ¥l
(B) ¥, fera, dicd

(C) ¥m, &, Tom

(D) 3™, fema, ww

‘TR ATESt TRy T freRa
Hoft feeft ?
(A) sio|
(C) e

(B) THea
(D) &\

[P.T.O.



20.

21.

22.

23.

Aristotle speaks of Eudaimonism
as :

(A) Benevolence

(B) Magnificience

(C) Excellence

(D) Patience

Select the four sanctions of morality
given by Bentham :

(A) Physical, Mental, Linguistic,
Social

(B) Physical, Social, Political,
Religious

(C) Physical, Mental, Linguistic,
Political

(D) Physical, Social, Linguistic,
Religious

The problem of means and ends and
the insistence on the purity of means
are the highlights of whose

philosophy ?

(A) K. C. Bhattacharya

(B) J. Krishnamurti

(C) M. N. Roy

(D) Mahatma Gandhi

Satkhyati is maintained by :
(A) Ramanuja and Prabhakara
(B) Ramanuja

(C) Prabhakara

(D) Ramanuja and Kumarila

20.

21.

22.

23.
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siftfea=n ‘gediftem’ =i .
(A) <TITeguum
(B) 9da1

(C) gafchsa
(D) HifsTeRar

HIVE IR MR S| Afaaaa
gfqaes wal ?
(A) Aifcden, AHGSR, JfHw, FAATSS

(B) ¥ifaesr, wmifees, USehia, enfdes
(C) iifder, AMfges, wiftes, TSR

(D) iifdqer, AR, oifSes, enfdes

HIAHEA= HHE o e e
B I el STy sTRd 2
(A) & . =

(B) . Hourdl

(C) AFeETY ™

(D) TR e

TEA RO T

(A) THIES 9 FHThT

(B) THIS
(C) 9Y4TehY

(D) THES 9 HARA




24.

25.

26.

27.

28.

According to Igbal, other minds are
known through :

(A) Postulation

(B) Intuition

(C) Testimony

(D) Sense-perception

Which aspect of Dharma is
emphasized by Phule ?

(A) Devotion (B) Truth
(C) Goodness (D) Beauty

The Absolute, as conceived by
Radhakrishnan is pure consciousness,
pure freedom and :

(A) Infinite

(B) Infinite descriptions
(C) Infinite possibility
(D) End of possibles

Who among the following asserts
“Religion without philosophy runs
into superstition; and philosophy
without religion becomes a dry
atheism”.

(A) Radhakrishnan

(B) Swami Vivekananda
(C) Sri Aurobindo

(D) Tagore

The statement—“Intuition brings to
man those brilliant messages from
the unknown which is the beginning
of his higher knowledge” can be
attributed to :

(A) Radhakrishnan

(B) Sri Aurobindo

(C) Swami Vivekananda
(D) Tagore

24.

25.

26.

27.

28.
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SFIATTAT Hd, T hIMAGR Thoodld 2
(A) 3rgfo<h

(B) 37d:9=m

(C) AT<a=ad

(D) TEITE

AT SHIOCT TSR et A oR faen 2
(A) vt (B) ¥

(C) fer= (D) Hied

YW GEOIQ'KITOIIT#'\I' HRTITER d
e <aa, e @aa 9 ¢

(A) 3Fd

(B) ofa 9viA

(C) oa R

(D) TERIQTET 3Hd

‘Tl HH STHSRETR XAl |
BRI ICTINICRIEREE K RENECICICHICE)
TeATish! I Yiqued 3R ?
(A) TR

(B) @@t foderrg

(C) #herfag

(D) 2R

T faum womeed =)o ?

" A T AU STRTTh g STedel 3
%%ﬁ?ﬂ%ﬂéﬁ,aﬁﬁaﬁ T ST EaTd
1!

(A) THTH™H

(B) #ierfag

(C) Tt faaeshrg
(D) MR
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29.

30.

31.

32.

Who among the following asserts—
“politics have their roots in the
spiritual life of man” ?

(A) Mohammad Igbal
(B) Mahatma Gandhi
(C) Sri Aurobindo

(D) Swami Vivekananda

Absolute for Radhakrishnan has to
be :

(A)
(B)
(®)
(D)

Materially real

Of the nature of spirit alone
Of the nature of void

Of the nature of both material
and spirit

According to Jiddu Krishnamurti
freedom is :

(A)
(B)

Free response to nature

Exercising choice without any
preconceptions

(®)
(D)

Pure observation

Knowing self in isolation from
relation

Sartre’s humanism orients itself
towards :

(A) an open future of collective

responsibility

(B) an open future of solitary

responsibility
©)

an open future of ecological
responsibility
(D) an open future of scientific

responsibility

29.

30.

31.

32.

JUN - 12219/I1—B

" USRI e HIUTETAT ST AR

o 'X] o o N0
Si{cAld HHdld % RINEICS ERCININEED
?

(A) H8HQ ST
(B) wercHT et
(C) herfae

(D) Tt fedenTe

THFEAT Ad, hddad .
(A) difqergee da= 3T9d

(B) S ddaHIa A9

(C) IETETE T

(D) Aifger T JqTEEIT 3T

g Fond=n 74, WA =N

(A) Tramien feoen g wfaaR

(B) =wivrcard geiwreifort fae e

(C) Tre= fiem

(D) ToHeHfeA Haes ‘@' s
SToTeY

e AHEAEG W@d: A hoedl oL
AfgE Ll ?

(A) Hfes ST Hokd Hios

(B)

(C) wHfeRuTfaoe STRQT @ ok
i

SfoReh IWEIIE ga dfas

(D) Sefeh IWEIIE™ Ho vfas

10
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33. According to Heidegger, the proper | 33. BFSTAT HATTIR T feeredn A
response to technology is to : giqae =|IN ;
(A) understand it within Being (A) sfEfear=l Th W U[A e
(Sein) ST FET T
(B) abandon it. Wii.',hifl Bei.ng (SeL:n) (B) d-li\%clcqlc,_m N
©) accelt.erate it w.lthln.Be.lng (Se.m) (©) s @ T 3
(D) manipulate it within Being
(Sein) (D) ARG el ARF90 BIdTe30!
34. According to Nietzsche, the | 34. TTR=I AAIER THIMEACA daad=A1/
assumption of identity underlying SR BRI RED R e o
logic is : (A) m 5
(A) culturally fulfilled f
(B) rationally fulfilled ® &
(C) spiritually fulfilled (C) smefcHRgs=T 2
(D) fictitiously fulfilled (D) @<HUIH B
35. For Levinas, the face of the other 35 SfeATEE AR ‘) A W
is :
(A) a  moral summon for (A) SR IETeRe Afds RY 3T
responsibility
(B) an epistemological summon for (B) faammamst SHRISIT oTRYT 3T
science
(C) an aesthetic summon for (C) giedsrsi ey oM
pleasure
(D) an intellectual summon for (D) dehiErSt dlifger ARy 3T
reason
36. James attempted to replace ‘the | 36. = ‘I’ heyd Wﬂﬂﬁﬁﬁﬁaﬁ
t;uth’ with a diversified plurality FIT aﬁw WY 3 2
of :
(A) appearances (B) truths (&) STHTH (B) ¥
(C) percepts (D) concepts (C) =fsa wae (D) HeheTl
11 [P.T.O.



317.

38.

39.

40.

According to Ryle, Cartesian theory
of mind is based on a confusion
between :

(A) Mental
disposition

Mind and brain
Mental and physical properties

description and

(B)
(®)

(D) Logical and psychological

properties
According to C.S. Pierce, truth is :
(A)
(B)
(®);

the ideal limit of knowledge
the ultimate goal of knowledge

the expedient in the way of
thinking
(D) the logical requirement of
enquiry

The distinction between actual and
probable verification was upheld
by :

(A) Schlick
(C) Carnap

‘Incomplete symbols’ of Russell are
those which fulfil the following :

(A)

(B) Ayer
(D) Wittgenstein

their contribution to meaning
did not consist in denotation

(B) their contribution to meaning

consists in denotation
©)
D)

they are used as names

they are not susceptible of
analysis

317.

38.

39.

40.
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A=A Hd Shiedt HAfIoTS U

(B) w4 7for ggt
(C) AHfges Tt iR T[ores
(D) difereh 3TfUT AFERTESE ToreH

(D) foa@=n difsrer TS

IR ST 9T T Aidied HE hivl
Tifaen e ?

(A) velie (B) @R

(C) T (D) forieeréa

T oTqul Ufeh ' JeteTuent e il
FAE ?
(A)

o sreffavges Jrem fAdema
e Aedfavas A e

M 9T9 ATHERET Shell STl

(B)

©)
(D) = fagdAwor &0 IR A
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41. Which of the following is not what | 41. gaﬁaﬁaﬁ HYMAT GHEY FAT9 ST
Quine criticizes as “two dogmas of e svFERTE 3 T ey
Empiricism” ? T 2
(A) The distinction between ' 0 )

analytic and synthetic (A) fowcies a gveved faammHa wieh
propositions (B)

(B) Phenomenalism )
(C) The reducibility of each (C) Wi Sreot fererre! eTe] STgetrea
meaningful statements to the e foaerdq gruars &l

set of immediate experiences (D) sTgea T qeneH e v M-

(D) Totality of our so called beliefs 3o TrEffa ey
is man-made

42. The objective of total revolution is : | 42. oo Thidr SR
(A) to change government, but not (A) TR SCeTOl, TU] HHIS] o ekt ATal

society and the individual .

(B) not only to change government, (B) el {1@':'{ AN 'ﬂa\l’ AR
but also society and the o oFKAdel sl Hedul
individual (C) THR AU A&l T TS o Fadl

(C) not to change government, but qq see TEao)
society and the individual )

(D) to change government and (D) TR & TS AW TR F,
society, but not the individual RIHE TR

43. Swadeshi was : 43. @I ¥ -

(A) not just an economic doctrine,
but covered all aspects of (A) o5 Sfefeh T-lr_o[ TE, WA
human life Stterre wd YA |mEA ad

(B) just an economic doctrine and (B) Sass 3T aw 3T, THat Serre
did not cover all aspects of ) ..
human life TR liﬂiil A HeH el

(C) not an economic doctrine, but (C) 3nf¥er dxa A&, O o HHa! e
covered all aspects of human life od W TEETR &

(D) neither an economic doctrine
and nor did it cover all aspects (D) 3mifefeh qeoTgl At o Heell St
of human life T ﬁl?fﬂ HTHTEORE! TEl

13 [P.T.O.



44.

45.

46.

47.

Constitutional morality :

(A) cannot be reduced to pure

normativity or pure legal form
(B) cannot be reduced to pure

normativity and pure legal form

(C) can be reduced to pure

normativity but not to pure
legal form

(D)

cannot be reduced to pure
normativity but to pure legal
form

Freedom to practice religion is
..................... right in India.
(A) a fundamental right
(B) a cultural right

(C) a political right

(D) an informal right

In the Indian Constitution, the right
to property is not :

(A) a fundamental right
(B) a legal right

(C) a moral right

(D) an individual right
Affirmative action aims at :
(A) social justice

(B) political justice

(C) individual justice

(D) global justice

44.

45.

46.

47.
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TSTATHS Afaaad
(A) YEY SCTcHd a1 deifieh &9

ERREREIGINC IR

(B) &Y STV o JRH Ak &
foee & 3a A

(C) YCY SIS ®UM faera T
AT 9O YEY AR T AR

(D) YR IEIMHb TG o T
Iq AR U0 YR YR U

ETGINDR

(A) HaYd
(B) Hi&pidaeh
(C) TSI
(D) ™=

TR TSFEeq Ul 8Fh &
e ?

(A) HYd BFh

(B) Aunfeh gk

(C) Afdw T

(D) AR TFh

ThRIHS el 3T I TqAl ?
(A) HrHIfSTeh =™

(B) UShia =

(C) aferten =4

(D) afiges =
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48.

49.

50.

According to Kautilya, in the process
of selecting a new king :

(A) A state must have a king even
if deserving candidate is not
available

(B) A person from the relations of
the previous king must be
selected

(C) It is better to keep a state
without a king instead of
selecting an undeserving

person
(D)

The eldest prince of the previous
king must be selected

According to Kautilya, what brings
glory to king and the citizens ?

(A) Beauty of the land

(B) Magnitude of the army
(C) Good governance

(D) Enormous wealth

In the context of foreign policy,
according to Kautilya, the following
principle should be followed by a
king :

(A) King must always remain
aggressive
(B) King can enter into war with

any enemy

(C) King should not enter into war

with more powerful enemy

(D) King must always think of
treaty to avoid any war

situation

48.

49.

50.
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Fifecr= FAMER Fa= e fae

Hieha=a dedl :

(A) S TS IHSAR YA THAT a4
TSIl ST AT TSt

(B) Y= TSl AT ek
EESIERRKINE]
T

(C) HSTATR! AT IHSARTHI
HITOITULT TS qSTfarfed Ufgetal

BN

~ c ~ [a¥
(D) GET=a1 TST=A1 Had <3 TSTeRHr=
BEERCILEIRECIC]

o~

FHifeear=al HATaR, EIciish! SHeHes TS
g AARE A dWE W B 2

(A) g gied
(B) ¥=m=t woFa

(C) guRmHET
(D) 3THTY HOUNIT

FHifeaT=AT FATTER TS TR RO

TeHld Jeid dwarn faee hIel

TS Y 3RS &

TSI FHBATR RN I8 F& ekl

(A)

(B)

(C) TN Tqeae dHeded IeEh

FHHl IgY HE T
e Tr@varael TS HeHt

SRS T

(D)
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51.

52.

53.

What is the golden rule about
foreign policy according to
Kautilya ?

(A) Enemy of enemy is one’s friend
(B) Enemy of friend is one’s enemy
(C) Friend of enemy is one’s enemy
(D) Friend of friend is one’s friend

Which one of the following
statements is not true of patriarchy ?

(A) Patriarchy is caused by the
biological inequalities between
women and men

(B) Male control over women’s
sexuality and reproductive
functions is a fundamental

cause and result of patriarchy

(C) Patriarchy causes oppression as
a result of alienating women

from their bodies

(D) Patriarchy is essential condition
for women to demand their

rights as equal citizens

Who among the following political
thinkers defends the Aristotelian
ideal of intimate, reciprocating focal
community bound by shared ends,
where people simply assume and
fulfill socially given roles ?

(A) Alasdair Macintyre
(B) Charles Taylor
(C) John Rawls

(D) Isaiah Berlin

51.

52.

53.
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TS GROMEES hifceared HarTar gaot

fom sgpgen ?

(A) o= T @A T

(B) fAsm=n ¥ 1 eden

(C) wop=n A« sfoen ¥

(D) faom=n fast a1 efven o

EeHedesh! FIvd faem frgammerug e -

oed @R A ?

(A) T 3 gew Fr=mHa Sfaw
ST TIqEReR UG SRRl B

(B) &9 Si=A wifiehden fafa &
IThd el 9 TIqaehag e § S
FA B RV 9 TR AR

(C) T = IR STes shedl-
o TUqaaehug et o= 2o hid

(D) T @ wH A g fHafomamssia
TR UG & STavdeh 31 3T

fSTegTesaT™l, TXEIIqLeh Hae SO0
AR 3gfase AN ST, HHSMH
feate fien wiisRe & fvmee
ST, TRM SfREieamfon stewie wHefq
HI0fl w2

(A) ATHSER Hih=RR
(B) =med R
(C) S Tew
(D) =& e
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54. According to Marx the origin of | 54. w#EE =N #d, AT T 7 W
alienation is commodity fetishism. O 3Tal. @eeie o
Which of the following is not a part U Rl ) S
of Marx’s explanation of alienation ? ) R

SN "'||3'| !

(A) Inanimate things (commodities)
have human powers (i.e. value) (A) T75TTa a=gmes Aet 9w (oSt

(B) Inanimate things (commodities) qca) T
are able to g(.wern the activity (B) frsif T A v ROt
of human beings -

(C) Social relationships involved in
production are not relationships (C) IcurAfshadial |HITSh AdEsd
among people, but only ATHTHIVERTE YT Shaes i
economic relationships oY STadrd

(D) Inanimate things (commodities) (D) Firsie s s e FEt
are incapable of governing the A
activity of human beings FIUAE A STHA

55. Which one of the following is not | 55. 3Wc TAYNK AUt giehmm=n
true of normative claims that are Tgeriferen Siendia e SO SETiae
entailed in the theoretical ST ETeeE A () @
framework proposed by Amartya = )

Sen’s capability approach ? )

(A) The freedom to achieve well- (A) FHAT Ja HEA S0 @A
being is of primary moral m Sfderd; Hew@E TR
importance B) S S .

(B) Freedom to achieve well-being - . >
is to be understood in terms of L
people’s capabilities ¥

(C) People’s capabilities mean their (C) SERSHTAT &THaT WU A= T
real opportunities to do and be N-5 AT HO99 9ed 9 Sl
what they have reason to value eyl TR

(D) The freedom to sell one’s - -
produce at a desired price in the (D) I '\ol.lwil'\wdclr\uellalc{ \W“sﬁl el
free market AT ThHATAT TIh I 1A
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56.

57.

58.

The process by which things of the
world, not belonging to anyone,
become appropriate objects, pertains
to which of the following principles
of justice according to Robert
Nozick ?

(A) A principle of justice in
Acquisition

(B) A principle of justice in Transfer

(C) A principle of justice in
rectification

(D) A principle of justice in decision-
making

One of the dominant reasons for

people to enter into social contract

according to Hobbes is :
(A) Self-preservation

(B) Inner sense of justice
(C) Universal love

(D) Love of wisdom

According to socialist feminism
which of the following is the foremost
reason for the subjugation of
women ?

(A) Their financial dependence

upon men

(B) Their biological difference from

men
(©)
(D)

Lack of political representation

Lack of education

56.

57.

58.

JUN -12219/11—B
T Ffeeh=ar Ad, SOdie a1 o]
HIVTATE AT AT THaTd & Ay gered

o N

1 Yfshda e, o Afshan Weiierdeh!

R AR 38 ?

(A) IIfSIardia =

(B) &GO A&~

(C) GURUIA el

(D) TR =R

ISR IR OIS, dleael Hd,
Y@ HRU Weedeh! HIod 2
(A) wd:E T T

(B) =M= STdfleh 91d
(C) gEfAs o™
(D) A= YA

AR SeRITaR, fE@m= gaHe

NN
AHEl nRYl en[Yd ?

(A) qEoTeic e T sTecter

(B) = NG ST STHURT Sifos
a4

(el oSl oY

(C) USthta yrfafaf

Al AT

(D) forerom=n S1vma
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59. Which of the political thinkers | 59. ETciiciush! v ASTeh 1A faaRad Heff=t
distinguishes between equality of HHAT & STeTETE GHAEAT I THETS
opportunity and equality of respect > & e e S 9
on two elements in the idea of '
equality ? (A) S U™
(A) John Rawls (B) & T
(B) Karl Mar

) (C) =i Forerea
(C) Bernard Williams
(D) Charles Taylor (D) =reH SR

60. The statement “Female subordination | 60. &€y a ®ERyU fTeuiges fommn
is rooted in a set of customary and TSS9 . 9997 9 I97 9 faesvda
legal constraints that blocks = g?»q'-lﬁlqvwlldﬁl Héaﬁ T faum
women’s entrance to and success in T e
the so-called public world” belongs FEg
to which of the following feminist )
theories ? (A) HermHl Hiterg
(A) Radical feminism (B) Tofaweia Siare
(B) Eco-feminism

. .. (C) ITRHATART Hiag
(C) Liberal feminism
(D) Socialist feminism (D) HHISERT SHES

61. In Plato’s Republic which one of | 61. wier=a Rufsraed d@a@ TR =a-
the following is a reason why faureRfiar Erelieiien Iod SRl fae
philosophers should rule a city ? e ?

(A) They hate poetry (A) 1 SHreEm faewrn o)
(B) They are mindful of both body . - .
and spirit (B) ™I IXRThe 9 SMUIAehe 3T
A
(C) They are easily able to convince ‘ )
others (C) T FESTIl SaTHT Yoo IRrRT ST
(D) They love what is rather than (D) uftadramaen =M sTaRed—a i
what becomes 3q
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62.

63.

64.

65.

66.

A deductive argument is invalid it
and only if .................. .

(A) all its premises are true and the

conclusion is false

(B)

all its premises are false and
conclusion is also false

€

some of its premises are false
and conclusion also false

(D) all its premises false and

conclusion true

According to quality, propositions
are divided into :

(A) Universal and Particular
(B) Simple and Compound
(C) Affirmative and Negative
(D) Necessary and Probable

Which one of the following is not a
valid mood of first figure of a
syllogism ?

(A) Barbara (B) Celarent
(C) Darii (D) Boroco

The law that states—‘A is either B
or not B’ is :

(A) Law of Excluded Middle
(B) Law of Contradiction
(C) Law of Identity

(D) Law of Nature

opposition is the relation
between two particular propositions,
which have the same subject and the
same predicate but which differ in
quality.

(A) Contrary

(B) Sub-contrary

(C) Contradictory
(D) Subalternation

62.

63.

64.

65.

66.
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TR IRRETE W deerd ST STEl

(A) =t Te URIEM FH A
o foopsl STHe ST

(B) = Hel SYRfae $Eeq STHAw
(ShtEl 3TEC 3T

(C) = IR SMURfIE 3TH STHard
3:|TFUT fa [ORaY N

[ben Bl SHHC Sl

(D) <= Fol S ST ST
Rt T ST

0 JeeneR faum faurmedt S -
(A) gdarEt efor fogsEmt

(B) =& orfur Ty

(C) demuef enfor Fepmedt

(D) eAfemd enfor Hersw

JEicTuehl IVl YRR WG i
ST IR YhR ATEr 7

(A) sTET (B) faer=

(C) s (D) dRIehI

‘A R TH® B T foher 7 B o’ ®
greum fam e me .

(A) dafSta A=

(B) =ATETATET

(C) drere=r=n
(D) frae=n

7 foaly swem < faumme
A S ST UE WHE A 3o
fague ¥9M 19 907 UGt o fa=
3HdTd.

A faly
(B) 39-folim
(C) =r&md
(D) 3Itera
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67.

68.

69.

“~l(pvq) .(gvrIo(pvr)” this
propositional form is a ................ .
(A) Tautology

(B) Contradiction

(C) Contingent

(D) Complete

Identify the correct formulation of
the Rule Universal Generalization

(U

(A) oy
s (X)) (o)
(where Y denotes “any
arbitrarily selected individual)
B) ox
o (X) oy
(where X denotes individual
variable)
©) ox
- (0y)
(where Y denotes “any
arbitrarily selected individual)
D) ox
- X) ¢x
(where X is any individual
variable)

Select the correct symbolization of
the following statement :

“Only policeman and fireman are
indispensable and underpaid.” (Px,
Fx, Ix, Ux)

(A) (X) [(Px.Fx) > (Ix . Ux)]

B) X) [(Px v Fx) o (Ix. Ux)]
(C) 3IX) [(Px.Fx).(Ix.Ux)
D) X) [(Ix . Ux) o (Px v Fx)]

67.

68.

69.

JUN -12219/11—B
“~
Y
(A) gda: T
(B) Had: 3THA
(C) Sfafaeraar T

(D) Hyof

Hifeleh AM=IeRLomEn (UT) Famme o1
ERIENRCIEI RS e .

(A oy
o (X)) (0yg)
(Y &1 ' I fHaseel <&t o1
fdfma sz’
(B) ox
o (X)) ox
(X T Afr=r R &)
©) 0x
- (0y)

(Y &1 =1 Fareeiett =af Fefem
L)

D) ox

- X oy

(X © HIVIAE SRR 37T)
eIt faumre e o fae ' o
Wi enfi eFRTHRga™ WEE 7

TR ST STY=AT JaHTER Sh1H HIUR
aad. (Px, Fx, Ix, Ux)

(A) X) [(Px.Fx) > (Ix.Ux)

(B) (X) [(Px v Fx) o (Ix. Ux)]
(C) FX) [(Px.Fx).(Ix . Ux)]
D) X) [dx.Ux) > (Px v Fx)]
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70. Identify the fallacy committed in the

71.

72.

73.

following syllogism :

No men are perfect

All men are animals

~. No animals are perfect.
Fallacy of Illicit Major
Fallacy of Illicit Minor

(C) Fallacy of Negative Premises
(D) Fallacy of Undistributed Middle

Find out the incorrect option :

(A)
(B)

(A) If an Axiomatic system is
constistent it can’t be complete

(B)

If an Axiomatic system is
consistent it does not contain ‘p’
and ‘~p’ as its axioms or theorems

(C) An axiomatic system is
consistent iff not every wif is a
theorem of that system

(D) An axiomatic system is
consistent iff every wiff is a
theorem of that system

Who is propounder of the view that
animals do have intrinsic value ?

(A) Peter Singer
(B) Tom Regen
(C) Aldo Leopold
(D) Arne Naess

Community includes both biotic and
abiotic factors. This assertion is
made by :

(A) Land Ethics
(B) Deep Ecology
(C) Shallow Ecology
(D) Medical Ethics

70.

71.

72.

73.
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qeial GfaumMdie deary Slesel :
THS A RO .

Hd HIUE YIOft ST
(A) faftrg sreadren gferarg
(B) Tftig wTer=n Iferierg

(C) THRITh qoue=l Jferarg
(D) stfaumrefl wefte Fforerg

T g e
(A) UG o ST a ) ot
e
A W

3T TThd
(B) ot T
g T
AR fohal THT A STHUR AR

(C) Tk Fafed SEARCISIRRIE

JUelt FETd 3T

(D) & gefed SEAECISIGEIE
wﬁﬁﬁa%?fr ﬂTl
T o goet G A8

‘o : Ciearl oK

(A) W fam

(B) 2@ T™

(C) 3feer fasTues

(D) o =
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HIT Hell ?

(A) IRER-dt

(B) 9@ 9FieROl At
(C) 3¥es qAE et
(D) ST it
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74.

75.

76.

According to Jodal Radinov :
(A) Life begins with birth

(B) Birth is morally insignificant
phenomenon

Life begins with conception

Conception is morally
insignificant phenomenon

A slippery slope argument about
Abortion states :

(A) Abortion is justified but killing
the child is not

(B) If abortion is justified, killing
the child is also justified

(C) Both abortion and killing the
child are justified

(D) There is no link between the
justifiability of abortion and
that of killing the child

Match the pairs :
Group I

()
(D)

(@)
)
(c)
(d)

Peter Singer
Tom Regen
Aldo Leopold
Arne Naess
Group 1I
Land Ethics
Deep Ecology
(3) Practical Ethics
(4) Animal Rights
Codes :
(@)
A (1)
(B) 4)
© 3
D) (2)

(1)
(2)

)
(2)
3)
(4)
3)

(c)
3)
2)
1)
(4)

(d)
(4)
(1)
(2)
(1)

74.

75.

76.
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Sreta eAfeg=a qdgan

(A) SEAmET YRY SHERER B

(B) 1 B Afqengred goeieh He 38
(C) Sfraar=n YRy TYROEER B
(D) ‘;%Wﬂ & Afehgsa efoeteh w2

Ty vida et Sarr=an’

FfrraRE o W AT W
(A) T UL 378, T STeTgel el

(B) SR TMefurd gueHEg 3, aX Sel-
TR T R

(C) UG 9 ST Srel greda 3Ted

(D) U § STeTec A=A AR -
) HIAE FHE AT T
SISl
e 1
e faR
" T
el fasides
M 9
e 11
qRER it
(2) TE TATEUHTT
(38) AERIH il
(4) WO BF6
Hehdiah :
(@)
A (D
B) @
) 3
D) @)

(@)
@)
(c)
(d)

(1)

)
(2)
3)
4)
3)

(c)
3)
(2)
(1)
4)

(d)
4)
(1)
(2)
(1)
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77.

78.

79.

80.

Supreme Court India judgment
related to the Adhaar in 24
September 2017 is related to :

(A) Right to Privacy

(B) Right to Technology

(C) Right to Travel

(D) Right to Property

Who is the author of Silent Spring ?
(A) Rachel Carson

(B) Arne Naess

(C) Aldo Leopold

(D) Peter Singer

Which of the following isn’t principle

of media ethics ?

(A) Ensuring the authenticity of the

news
(B) Unbiased attitude
(C) Maintaining privacy
(D) Propaganda

Justice is concept.

(A) Legal

(B) Moral

(C) Psychological
(D) Scientific

77.

78.

79.

80.
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WATA Haled <A STER Haei=n
24 FWs 2017 =1 i =

(A) ESETguTET AR
(B) TRl AR

(C) Temdr=n SRR

(D) HieTHw=T SRR

grrcie e o v e S AR ?
(A) WA HREA

(B) s 9

(C) s fasimee

(D) fyex fam
TeTadeh! IV T7d HEgH Sfaemer
& ?

(A) s foremamar fehan

(B) &% gfta 9ol

(C) TISHIUT STea ol
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81.

82.

Choose the correct order of the

stages of life according to

pratityasamutpada of Buddhism :

(A) Bhava, Vedana, Jati and
Upadana

(B) Bhava, Jati, Vedana and
Upadana

(C) Vedana, Upadana, Bhava
and Jati

(D) Bhava, Vedana, Upadana and
Jati

Consider the following statements
with reference to the schools of
Vedanta and mark the correct
code :

(1) Shankara accepted Nirguna
brahman and rejected Saguna

brahman

(2)

Shankara and Ramanuja
accepted Saguna brahman

Shankara accepted both
Saguna and Nirguna brahman

3)

(4)

Shankara and Ramanuja both
rejected Nirguna brahman

Codes :

(A) Only (1) is true

(B) Only (1) and (4) are true
(C) Only (2) and (3) are true
(D) Only (3) and (4) are true

81.

82.
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G WAEEIARTIER ST STareT
I A fFEel
(A) o, 9, S o SuRH
(B) w4, S, d& S0 IURH
(C) oI, SURH, wel 37T St
(D) wd, 91, SURH 3o St
eIt fere= ST HeHid & S
RUREGEIEREC i

(1) SeRrETET FHoT ST Tiehral afor
O SR ARRA

(2) TR ST AT F= |/
ERESIEIN]

(3) vt G s e s

qIglel Tehel 378

(4) vTHIEE AT [EAASEE AT
M 0 S AR

Hehdich

(A) W (1) 3T M

(B) e (1) 30T (4) T TR

(C) e (2) 30T (3) T TR

(D) W (3) ST (4) ST TR
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83.

84.

“Brahman and the Jiva are different
but they have the potential to be
identical” is the philosophical

perspective of :

(A) Advaita Vedanta

(B) Visishtadvaita Vedanta

(C) Dvaita Vedanta

(D) Jainism

Given below are two statements
labelled Assertion (A) and Reason
(R). Examine both with respect to
the Yoga and select the correct
code :

Assertion (A) :

Yoga is a theistic system.

Reason (R) :

God is the creator, preserver and

destroyer of the world.
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true and
(R) the

explanation of (A)
(A) is true and (R) is false
(A) is false and (R) is true

(B)

is not correct

(®)
(D)

83.

84.
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o 37 Sftg =1 o7 9ot = gftean

(A) ¥5d &
(B) faf¥rsersa dar=
(C) &4 o=
(D) S A

92 YN (A) A0 w0 (R) 0
TH fagm foeft smea. o e faum=
AT qeiHTe Heuld THe HEA T

TN (A)
I ¥ SYeROE! < IR
Ot (R) :

YR B SN fAHTAT, eureRar ST
fommeTeRal TR

F@H’I'T:E :
(A) (A) 3for (R) Sr=iel o 3mmed i
(R) B (A) 9 Iy TqShI0 3T

(B) (A) =71 (R) Tr=iet 9 fTed T01
(R) & (A) 9 IAMY TSR0 M8l

(C) (A) ¥ &8 WU (R) & 318cA 3T

(D) (A) FEH 3 997 (R) ® §H %
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85.

86.

87.

Select the incorrect statement with
reference to the Vedic sacrifice from
the following :

(A) The sacrifice is enjoined by the
Veda

The Vedic Gods are invoked in
the sacrifice, but they are only
instruments for the proper
completion of the sacrifice

It is not the case that, the result
of the sacrifice is produced by
an inherent potency—the
apurva

Out of the many kinds of
sacrifices enjoined, one among
them has its aims the fulfilment
of the desire of the person
performing the sacrifice

Which one of the following theories
of validity of knowledge is upheld by
Samkhya ?

(A) Svatah pramanyavada,

(B)

()

(D)

Paratah apramanyavada

(B)

Svatah pramanyavada,
Svatah apramanyavada
Paratah pramanyavada,

©)
Paratah apramanyavada

(D) Paratah pramanyavada,

Svatah apramanyavada

‘It is not the case that everything
can be produced by everything
merely by a change of arrangement
of constituting atoms. This means to
say, it is not the case that the effect
is potentially pre-existent in the
cause.” This view is upheld by :

(A) Samkhya-Yoga

(B) Madhyamika Buddhists
(C) Nyaya-Vaiéesika

(D) Mimamsa

85.
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87.
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geicl TaEmie Sfceh F=ie Heui gent
faum feret -

(A) 99 © ocfafea smed

(B) A TAHIEA A8 SHIdrd qor
1 A STEHIU U AT

GIEHTS AT

(C) ¥ TE 1, T s 51 For
G

(D) STl Fh=AT efaied ATl

Toh! I9 SfE Igehcaiea s

ECICE

AET=AT YTHTOAT=AT dTadid JTed=

o N ¥ [aV [aV [aV o 7
Jelcdbenl onlVldl SHYT QAlenRadl ¢

(A) Ed: JHIIARE, Wd: AUHTIAG

(B) T&d: YEMOIAR, &d: SYHIAG
(C) Ud: YMHUIdAG, UId: AYMHUIAG

(D) Wd: YHUIEE, W&d: AYHUIAG

‘T AR Y AU AT ToA aGe

FHIMTE! Frarel AT Ll Ad RIS
wE g fmo Foergel SwRma ST

WEAE 39d."' -7 gfieshd ot :
(A) TEF-Arm

(B) WAl g

(C) =mg-a9ifoerm

(D) =&
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88.

89.

Pramana-Vyavastha doctrine is not
upheld by :

(A) Naiyayikas

(B) Mimamsakas

(C) VaiSesikas

(D) Buddhists

Given below are two statements
labelled Assertion (A) and Reason
(R). Examine both with reference to
Mimamsa System and select the
correct code.

Assertion (A) :

Vidhi vakya and Nisedha vakya
of the Vedas are injunctions that
give forth the Vedic actions that are
to be followed and those that are to
be avoided respectively.

Reason (R) :

Vidhi and Nisedha are to be
adhered to the
Mimamsakas consider the Veda to

because

be their final authority.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true and
(R) i the
explanation of (A)

(A) is true and (R) is false
(A) is false and (R) is true

(B)

1S not correct

(®)
(D)

89.

JUN - 12219/I1—B

qe AU (A) A0 HRO (R) M
S foum foot omea. wamen SeAmA
Heuld @e T e AR Gehdieh
IRCE

YO (A)

fafer s enfor fdty a9 ag= 1A
3T TN R I RV gk Fell

o N N
clledld [endl ont A4d % hodd.

T (R)

fafy sfor foy I 9T HUE HROT
HHTHRT=a A derd Yoy 3ifaq 3Te

F@H’I'T:E :
(A) (A) 2701 (R) SIeler 9 3Ted ST
R) T (A) ¥ I TR0 3R

(B) (A) 37U (R) SaIel e 3ATed ATl
(R) % (A) 3 I TR0 FHd
Bl

(C) (A) T 2T® 27for (R) 19T 378

(D) (A) 3TFH 3R A0 (R) 9T 3T
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90. Match List I with List IT and mark
the correct code :

(@)

®)

(c)

(d)

(1)
(2)
3)
(4)

List I

We may notice manifold
qualities and characteristics of
a thing, but view them as
unified in the thing. Eg. We say,
“This is a book”, we do not look
at characteristics being different
from it.

We may notice qualities
separately and regard the
unified thing as non-existent.
Eg. Perceiving different
qualities of the book and alone
regarding those as real, apart
from the unified object, i.e. the
book.

Liberation is not a negative
state of cessation of misery.

Liberation is for and by the
individual.

List 1II
Paryaya-naya
Dravya-naya
Mahayana

Hinayana

Codes :

A @)
B) 3
© 3
D) 2)

(d)
(1)
(4)
(4)
(4)

(@) b)
2)
2)
(1)

(1)

(c)
3)
1)
2)
3)

JUN - 12219/11—B

90. IR 1 7o =<t 11 ar=an e Sjeedl
3 ST Hehdien Tael :

(@)

®)

(c)

qrer 1

ST S 1k ToTerd 3oy Sferse
redl, TU TS S99 TehdH
UM Tedl. 90 WUl ‘7 IRieh
3R’ T ST A= Ao
qEhTIE AT UA IRd TRl
SO TqUIEH AR qg S
ST ThEY %] ARG el 318
TS, Sareonel, gk fafi= 1o
el Ao A STl T
AU, ThEY I TS ekl
TR,

TRt TS @ 319 .

(d) Tt & K HRIES hetel

3TE.

Tt 11

(1) == =
(2) = ™
(3) W™
(4) EEE
Hehdleh

(@ b)) (@ @
A @ 2 G @
B B @2 Q) @
© 3 1 @ @
D @2 @1 B @
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91.

92.

93.

94.

95.

Thales, Anaximander and
Anaximenes are known as :

(A) physikoi (B) mystics

(C) myth-makers (D) politicians
The view that human beings were
playthings at the hands of powerful

but morally weak deities was held

by :
(A) Heraclitus (B) Aristotle
(C) Homer (D) Thales

For Plato Mathematics provides :

(A) a bridge from the sensible would
to the intelligible

(B) a discontinuity from the sensible
world to the intelligible

(C) an illusory means from the
sensible world to the intelligible

(D) an obstacle in the sensible world
to the intelligible

According to Aristotle, form is not :

(A) for the sake of matter

(B) immanent in matter

(C) functional in matter

(D) differential in matter

Assertion (A) :

According to Locke, the real essence

of any physical object is not known

to us.

Reason (R) :

The internal constitution of the

object is in reach our experience.

(A) Both (A) and (R) are

individually true

(A) is true but (R) is false

(A) is false but (R) is true

Both (A) and (R)

individually false

(B)
©)

D) are

91.

92.

93.

94.

95.

JUN - 12219/11—B
gog, ’Mifemst g sffwm—g =

3ed ?

A) frfSwe (B) eI

(C) THemaR= (D) I/ T
TV FEUTS] TfeRaemTett TRy ek : o

oAl BT ©eavit &1 gfteshia vt

(A) feliwrTed (B) sfft=iea

(C) B (D) g\

I A7d, 0 w1 ed ?

(A) TfgT ST STehel e |ierd

(B) Ufga <7 9 v ard <<t fmfor
_—

(C) Tfsa ST SThert ATadid Y
A qEd

(D) tfga s ereye fein = o
JAeheHE (TUIR Bid )

A== Ad, A&R :

(A) SURHMEE THd

(B) SURM &l

(C) 3UEHN HEEIH -TEdl

(D) SURHM fayraed™ THdl

IAYNTT (A) :

SAleheAT HATGAT Hifeh a&= B AR

Tl Jd TEd.

uT (R)

ST S AT ST ST

Iq TR

(A) (A) =for (R) <&l |

(B) (A) 3 901 (R) 3HA

(C) (A) 318 U1 (R) ¥

(D) (A) =7 (R) T& 3T
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96. Who claimed that the exclusive | 96. I (U1 TUMH § UM Hgwa™ 1A
concern of mathematics is with 38 STl M@l hiv LAl 2
questions of order or measure ? (A) e (B) %z
(A) Leibniz (B) Kant ©) 2w D) @l
(C) Descartes (D) Russell . - .

97. I Hd 3k EHehdl 0T Afamddre

97. For Kant, necessity and contingency | SR RAF o
are categories of : .

. ) (A) "oy (B) U
(A) Relation (B) Quality ‘
(C) Modality (D) Quantity (©) D) /

98. Which of the following is incorrect 98. Eieile =T = e ?
match ? (A) @F{—STI'@ (Epoche)

(A) Husserl—epoche (B) S®R—itwel T gH (Cogito
(B) Descartes—cogito ergo sum ergo sum)

(C) Spinoza—tabula rasa (C) ﬁmﬁw—z@w Hl (Tabula rasa)
(D) Berkeley—esse est percipi D) THA—3Y T TUIT (Esse est

99. The causal relation, according to percipi)

Hume, is an : 99. T T R T & A
(A) Innate idea (A) sTdh -
(B) Causal idea
(B) =IO <heddl
(C) Dissociative idea .
(C) TaHIMcH heqHl
(D) Associative idea .

100. According to whom the proposition D) ¢
‘God exists’ is a quasi-ontological | 100. ‘YR e g’ ® T shiome
proposition . -qﬁ a%f—WSTF?ﬁ'q 311% ?

(A) Kant (B) Anselm (A) =ie (B) 3T&cH
(C) Descartes (D) Ryle (C) =Fre D) TWaA
31 [P.T.O.
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